(TRANSFER CASE)

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM
(DIFFERENTIAL)

MHCTPYKLMS NO YCTAHOBKE KOMIIEKTA 3ALLUUT
(PA3IATOYHAS KOPOBKA)

m UNDERBODY ARMOUR INSTALLATION MANUAL

Underbody Armour for:

Nissan Navara D23 (2015-); Nissan Navara D40 (2005-2015);
Nissan Frontier D40 (2008-) Mercedes X-Class (2017-) V- 3.0D

2333.4173.1; 2111.4173.1.3; 2333.4173.1.6

WWW.RIVAL4X4.COM


1
Прямоугольник


e

*,

w,
©On
<

¢

&

S

V4

EN Regular fasteners
DE Originale montageteile
RU LTatHbIM Kpenex

EN Regular fasteners
DE Originale montageteile
RU LWTaTtHbIN Kpenex

EN Screw a several turns
DE Fur wenigen Umdrehungen befestigen
RU BkpyTuTb Ha Heckonbko o60opoToB

EN Loosen bolts
DE Bolzen lockern
RU BbIKpyTUTbL Ha HECKOMNLKO 060pOTOB

EN Drill
DE Bohrer
RU Openb

EN Screwdriver
DE Schraubenzieher
RU OTtBepTKka

EN Office Knife
DE BlUromesser
RU KaHuensapckuin HoX


1
Прямоугольник


EN Ratchet
DE Ratsche S-17
RU TpeweTtka

M10x80 x3 | M10x30 x3 | M10x60 x1 | M10x80 x3 |10 X7

M10x65/20 x1



1
Прямоугольник


[T

/
[

0000 @ °L @ 0@O
= i
AL A
/

Nissan Navara (D23) Spanish assembly

\

fix=

/i
[

<o

.
! /!
T T
7/ 7’
.

\

Ox2-3

0000 @ °C @ 0OPO
=i
« «
1d 14
Yau? Vap?
|
Ul

Nissan Navara (D23) Spanish assembly



1
Прямоугольник


e O@0O

O O
O

i

lo] )

00000 @

\

\

[k

Nissan Navara (D23) Spanish assembly

= =T

© ©° ©° ©° | M10=49 Nm
. o o o] (o]
’O o o
N
\
3;6
~ //
. I
Yas'
—/._
“-\-_

Nissan Navara (D23) Spanish assembly



1
Прямоугольник


ISE

s

M10=49 Nm

[ [°]]

Nissan Navara (D40), Nissan Frontier (D40), Nissan Navara (D23) Thai assembly



1
Прямоугольник


A

M10=49 Nm

NI =

I &

Nissan Navara (D40) V-2.5D, Nissan Frontier (D40)

M10=49 Nm

Nissan Navara (D40) V-3.0D, Nissan Navara (D23) Thai assembly



1
Прямоугольник


L[]

A

M10=49 Nm

i

AN N

Nissan Navara (D40), Nissan Frontier (D40), Nissan Navara (D23) Thai assembly



1
Прямоугольник


&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fur jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal} Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal} Herstellervorgaben werden keine anderen Karosserieteile
beschadigt oderin Mitleidenschaft gezogen.

YcTaHoBKa:

3awwmTa paspabaTbiBaeTcs UHAUBUAYANLHO Ha KaxX bl aBTOMOBUb.

OHa pormkHa ycTaHaBnNMBaTbCsl B COOTBETCTBUM C MHCTPYKLMEN M3rOTOBUTENS Cneumnanmu3npoBaHHbIM
Annepom unu Ha ceptnuumpoBaHHbix CTO.

3alwmTa KpenuTcs K LUTATHbIM OTBEPCTUAM CUMOBbIX 31eMEHTOB Ky30Ba.

Mpw npaBuNbHOM yCTAHOBKE 3aLUUTa He JOMKHA KacaTbCs yY3r0B U arperaTtoB aBToMobuns.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstol3en von/mit Hindernissen und grofen Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol? muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt Gberprift werden.

YcnoBus akcnnyaTauum:

3alwmnTa npegHasHaveHa AnNs 3KCnnyaTauunm B YCNOBUAX NMPeayCMOTPEHHbIX MPOU3BOAUTENEM
aBTOMOOUMNA.

Mpw akcnnyaTaumMm A0MmKHbI GbITb UCKIMIOYEHBI CryYan Haesaa Ha KpynHble NpensaTcTBUA M NpeaMeThl
npv OBUXXEHMM aBTOMOOUISA HA CKOPOCTH.

B cnyyae Hae3ga Ha npensTcTBuMe HeobxoguMmo ybeamTbCsi B OTCYTCTBMM MOBPEXAEHMI Y3IOB U
arperaTtoB aBTOMOGUNA 1 NPUTOAHOCTU AanbHeWLEeR aKCnnyaTaLumn 3almTel Ha cneumanm3MpoBaHHOM
CTO.


1
Прямоугольник


&YV Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewahrleistung betragt 12 Monate.

FapaHTusN:
[apaHTUIHBIN CPOK 3KCNnyaTauum - 12 mecsaues.

@D Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
that was notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es dirfen keine Schaden durch die Kollision mit Hindernissen/Gegensténden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller Gbernimmt keine
Haftung flir Fahrzeugschaden jedweder Art und gesundheitliche Gefahrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behéalt sich vor, Design und
Konstruktionsanderungen des Unterbodenschutzes zu &ndern.

YcnoBus npeAoCcTaBneHUs rapaHTum:

3awmrta yctaHoBneHa Ha aBTOMOOWUIb, C HENOBPEeXAEHHbIMW CUMOBBLIMW 3fNleMEeHTamMn Ky3oBa U
KOHCTPYKLMM (aBTOMOOWIb, KOTOPLIN He y4acTeoBan B [ TI);

OTCcyTCTBYIOT MexaHW4YecKue MOoBpeXAeHWA 3alwuTbl, MONyYeHHble B pesynbrarte Haesga Ha
npenaTCcTBME;

CobniogeHbl Bce TpeboBaHUA MHCTPYKLIMK MO YCTAaHOBKE 3aLLUThI;

OTcyTCTBYIOT MEXaHUYECKMNE NOBPEXAEHWNS MOPOLLKOBOIO MOKPbITUS;

MNpounssognTenb He HeCeT OTBETCTBEHHOCTW 3a nobon yuwepd, NPUYNHEHHbIV aBTOMOBUIIIO, XU3HU U
300POBLIO MIOAEN, B CrlyYae HapyLUeHUs YCNOBUA YCTAHOBKWN W 3KCNIyaTauum 3aLlmThbl.

MNpownssoauTens Bnpase BHOCUTb N3MEHEHWUS B KOHCTPYKLMIO 3aLUUThI.

All products are certified
Alle Produkte sind zertifiziert
Bcs npoaykumna ceptuduumpoBaHa

@nization for
5

A

Q .
z £
ISO ISO
2
NI T =S
9001 TS 16949


1
Прямоугольник


